FASEIAFMREREFEFR A TELHERABEFEREFRAR H29.9.23/24
E |[CEFELEZE 5 & [=EAZ[ELURB] BLE [BLRE[#A R|K | KkEE [-EARE GZE
6 4 1 5 3 2
100m 11 5 5
6 5 2 3 1 1
200m 6 7 3 4 1
6 5 1 I 2 3
400m 11 1 6 3
6 5 3 1 I 2
800m 6 o 6
1 111 12 3 2
1500m 4 12 17
11 1 1 12 3 2
5000m | 4y 5 15 2
5 3 2 1 12 4
110mH 10 1 16
5 2 1 6 4 3
400mH 7 ’ 13
6 2 1 5 3 1
3000mSC 8 ] 8 s
4Xx100m 6 1 2 4 5 3
4x400m| 6 5 3 2 1 4
- 2 5 1 1 6 3
e 2 5 1 4 9
= 1 3 5 6 2 1
FENE Bk 4 5 5 °
— 6 3 5 1 I 2
=B 6 3 6 6
3 1 12 11 2 1
fanis 3 4 12 11 3
2 6 1 1 5 3
FIfk#s 2 6 1 4 8
. 12 5 I 3
N\ —I] 17 7
1 6 3 2 5 1
5
Py 4 9 2 5 1
SBR[ 48 97 15 73 21 14 73 27 55
B £ 5 1 8 2 7 9 3 6 4
—HF¥R|UE=H|EF E |ZHRE[FEWLUER| FLUE |BURE M R|(Kk L | kEfh |=ZHBERE FE2E
z ZHFER|E=B|F E |ZHREB[FELUBRE| BLUE |BUKREH R|(Xk L£| Kkt |ZEEE FE2E
6 2 5 4 3|1
100m 6 2 12 1
12 5 1 1 3 2
200m 3 ’ o
6 4 5 2 1 3
400m 10 7 1 3
] 12 5 3 1 2
800m 4 20 1 2
6 5 2 1 3 1
1500m ] 9 u ’
6 5 1]2 3 1
3000m 12 2 3 4
] 6 5 3 2
100mH 4 6 10
6 1 3 5
400mH 6 4 3 5
4x100m 5 2 1 4 6 3
4 X 400m 6 1 2 5 4 3
= 12 1 45 3 2|45
EE 12 1 95 45
— 5 2 1 6 4 3
FENE Bk 5 3 13
— 5 3 2 6 4 1
=B 8 9 11
1 2 3 5 6 4
Rh 1 2 3 10
6 2 3 1 5 1
. > 5 6
I\ E 5 6
5 1 6 2 1 3
L
Py 6 8 4 3
BreEBA 7 120 9 20 1 1 57 76.5 59.5
B & 8 1 7 5 6 9 4 2 3
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